

## ON CONVERGENCE OF PAL-TYPE INTERPOLATION POLYNOMIALS

Xie Tingfan (谢庭藩)\*

### Abstract

Let  $\{x_k^*\}_{k=1}^{n-1}$  be the zeros of the  $(n-1)$ -th Legendre polynomial  $p_{n-1}(x)$  and  $\{x_k\}_{k=1}^n$  be the zeros of the polynomial  $w(x) = (1-x^2)p_{n-1}'(x)$ . By the theory of the Pal interpolation, for a function  $f \in C_{[-1,1]}^1$ , there exists a unique polynomial  $Q_n(f, x)$  of degree  $2n-1$  satisfying conditions  $Q_n(f, x_k) = f(x_k)$ ,  $Q_n'(f, x_k^*) = f'(x_k^*)$ , where  $k=1, 2, \dots, n$  and  $x_n^* = -1$ . The main result of this paper is that if  $f \in C_{[-1,1]}^r$ , then

$$f(x) - Q_n(f, x) = O(1)W(x)w\left(f^{(r)}, \frac{1}{n}\right)n^{\frac{1}{2}-r}, \quad -1 \leq x \leq 1.$$

Hence, if  $f \in C_{[-1,1]}^1$ , then  $Q_n(f, x)$  converges to the function  $f(x)$  uniformly on the interval  $[-1, 1]$ .

### § 1. Introduction

Let

$$-1 = x_n < x_{n-1} < \dots < x_2 < x_1 = 1$$

be the zeros of the polynomial

$$W_n(x) = -n(n-1) \int_{-1}^x p_{n-1}(t) dt = (1-x^2)p_{n-1}'(x), \quad (1.1)$$

where  $p_{n-1}(x)$  is the  $(n-1)$ -th Legendre polynomial with the usual normalization  $p_{n-1}(1) = 1$ . The zeros of the derivative  $W_n'(x) = -n(n-1)p_{n-1}(x)$  are denoted by  $x_k^*$  ( $k=1, 2, \dots, n-1$ ). It is easy to see that

$$-1 = x_n < x_{n-1}^* < x_{n-2} < \dots < x_2 < x_1^* < x_1 = 1. \quad (1.2)$$

Let  $f(x)$  be  $r$ -times continuously differentiable on  $[-1, 1]$ , that is  $f \in C_{[-1,1]}^r$  and  $r \geq 1$ . By the general theory of Pal interpolation (see [1]), there exists a unique polynomial  $Q_n(f, x)$  of degree  $2n-1$  satisfying the following conditions:

$$Q_n(f, x_k) = f(x_k) \quad \text{and} \quad Q_n'(f, x_k^*) = f'(x_k^*),$$

where  $k=1, 2, \dots, n$  and  $x_n^* = -1$ . Hence, the polynomial can be called Pal-type interpolation based on the nodes (1.2).

Recently, S. A. N. Eneanya<sup>[2]</sup> pointed out the polynomial  $Q_n(f, x)$  can be represented in the form

Manuscript received May 23, 1986. Revised July 3, 1986.

\* Department of Mathematics, Hangzhou University, Hangzhou, Zhejiang, China.

$$Q_n(f, x) = \sum_{k=1}^n f(x_k) A_k(x) + \sum_{k=1}^n f'(x_k^*) B_k(x) + C_n(x) f'(-1), \quad (1.3)$$

where  $A_k(x)$ ,  $B_k(x)$  and  $C_n(x)$  are polynomials of degree  $2n-1$ . Let

$$l_k(x) = \frac{W_n(x)}{W_n'(x_k)(x-x_k)} \quad \text{and} \quad l_k^*(x) = \frac{W_n'(x)}{W_n''(x_k^*)(x-x_k^*)}. \quad (1.4)$$

Then

$$A_k(x) = l_k^2(x) - \frac{2W_n(x)}{W_n'(x_k)} \int_{-1}^x \frac{l_k'(t)}{t-x_k} dt \quad (k=2, 3, \dots, n-1), \quad (1.5)$$

$$B_k(x) = \frac{W_n(x)}{W_n'(x_k^*)} \int_{-1}^x l_k^*(t) dt \quad (k=1, 2, \dots, n-1), \quad (1.6)$$

$$A_1(x) = l_1^2(x) - \frac{2W_n(x)}{W_n'(1)} \int_{-1}^x \frac{l_1'(t) + l_1'(1)p_{n-1}(t)}{t-1} dt,$$

$$C_n(x) = \frac{W_n(x)}{W_n'(-1)},$$

and

$$A_n(x) = \left(1 - \frac{n(n-1)}{2}(x+1)\right) l_n^2(x) + \frac{W_n(x)}{W_n'(-1)} \int_{-1}^x \left\{ \frac{n(n-1)}{2} l_n(t) - 2\left(1 - \frac{n(n-1)}{2}(t+1)\right) l_n'(t) + \alpha p_{n-1}(t) \right\} \frac{dt}{t+1},$$

where

$$\alpha = 2l_n'(-1) - \frac{n(n-1)}{2} l_n(-1).$$

On the convergence of  $Q_n(f, x)$  as  $n \rightarrow \infty$ , Eneudyanya<sup>[2]</sup> proved: If  $f \in C_{[-1,1]}^r$  and  $r \geq 1$ , then for arbitrary  $x \in [-1, 1]$  and  $n \geq 2r+3$ ,

$$f(x) - Q_n(f, x) = O(1) \omega\left(f^{(r)}, \frac{1}{n}\right) n^{-r+\frac{3}{2}} \ln n. \quad (1.7)$$

The purpose of this article is to introduce a new method which gives an essential improvement of above estimate (1.7). The main result is the following theorem.

**Theorem.** If  $f \in C_{[-1,1]}^r$  and  $r \geq 1$ , then

$$f(x) - Q_n(f, x) = O(1) \frac{|W_n(x)|}{\sqrt{n}} \omega\left(f^{(r)}, \frac{1}{n}\right) n^{1-r}$$

holds uniformly in  $x \in [-1, 1]$ ,  $n \geq 2r+3$ .

Since  $W_n(x) = O(1)\sqrt{n}$ , the theorem implies the following corollary.

**Corollary.** If  $f \in C_{[-1,1]}^1$ , then  $Q_n(f, x)$  converges to  $f(x)$  uniformly in the interval  $[-1, 1]$ .

## § 2. Preliminaries

In order to prove the theorem, we state some properties of Legendre polynomial  $p_{n-1}(t)$  as follows. By the well known estimations

$$(1-x^2)^{\frac{1}{4}} p_{n-1}(x) \sqrt{n} = O(1) \quad \text{and} \quad |p_{n-1}(x)| \leq 1, \quad (2.1)$$

and Bernstein's inequality (see [6]) we have

$$(1-x^2)^{\frac{3}{4}} p'_{n-1}(x) = O(1) \sqrt{n}. \quad (2.2)$$

The following relations can be found in [3]:

$$1-x_\nu^2 \sim \sin^2 \frac{\nu\pi}{n} \quad (\nu=2, 3, \dots, n-1), \quad (2.3)$$

$$|p_{n-1}(x_\nu)| \sim \left( n \sin \frac{\nu\pi}{n} \right)^{-\frac{1}{2}} \quad (\nu=2, 3, \dots, n-1). \quad (2.4)$$

Let  $x_\nu^* = \cos \theta_\nu^*$  ( $0 < \theta_\nu^* \leq \pi$ ,  $\nu=1, 2, \dots, n-1$ ). Then

$$\frac{2\nu-1}{2n-1} \pi \leq \theta_\nu^* \leq \frac{2\nu}{2n-1} \pi \quad (2.5)$$

and

$$|p'_{n-1}(x_\nu^*)| \sim n^2 \left( n \sin \frac{\nu\pi}{n} \right)^{-\frac{3}{2}}. \quad (2.6)$$

Here notation  $a_{n\nu} \sim b_{n\nu}$  means that there exists a positive constant  $M$  such that

$$\frac{b_{n\nu}}{M} \leq a_{n\nu} \leq M b_{n\nu}$$

hold for  $n=1, 2, \dots$  and  $\nu=2, 3, \dots, n-1$ .

The proof of Theorem is based on the following lemmas.

**Lemma 1.** For  $k=2, 3, \dots, n-1$  and  $x \in [-1, 1]$ , the inequality

$$|A_k(x)| \leq 5 |l_k(x)| + \frac{2 |W_k(x)|}{n(n-1)(1-x_k^2) |p_{n-1}(x_k)|^2} \quad (2.7)$$

holds.

*Proof* First let  $x_k > x$ . By (1.5) we have

$$|A_k(x)| \leq |l_k(x)|^2 + \frac{2 |W_n(x)|}{|W'_n(x_k)|} \left| \int_{-1}^x \frac{l'_k(t)}{t-x_k} dt \right|. \quad (2.8)$$

But (see [2])

$$|l_k(x)| \leq 1 \quad (2.9)$$

and

$$\int_{-1}^x \frac{l'_k(t)}{t-x_k} dt = \frac{l_k(x)}{x-x_k} + \int_{-1}^x \frac{l_k(t)}{(t-x_k)^2} dt$$

imply

$$\left| \int_{-1}^x \frac{l'_k(t)}{t-x_k} dt \right| \leq \frac{2}{|x-x_k|}. \quad (2.10)$$

Hence, from (2.8) (2.9) and (2.10) it follows that

$$|A_k(x)| \leq 5 |l_k(x)|. \quad (2.11)$$

Now, we assume  $x > x_k$ . By using (see [2])

$$\int_{-1}^1 \frac{l'_k(t)}{t-x_k} dt = \frac{1}{(1-x_k^2) |p_{n-1}(x_k)|^2}$$

and

$$\int_{-1}^x \frac{l'_k(t)}{t-x_k} dt = \int_{-1}^1 \frac{l'_k(t)}{t-x_k} dt - \int_x^1 \frac{l'_k(t)}{t-x_k} dt,$$

we obtain

$$\left| \int_{-1}^x \frac{l'_k(t)}{t-x_k} dt \right| \leq \frac{1}{(1-x_k^2) |p_{n-1}(x_k)|^2} + \frac{2}{x-x_k}.$$

Hence (2.8) and (2.9) imply

$$|A_k(x)| \leq 5|l_k(x)| + \frac{2|W_n(x)|}{(1-x_k^2)|W'_n(x_k)||p_{n-1}(x_k)|^2}.$$

From (1.1) we then have

$$|A_k(x)| \leq 5|l_k(x)| + \frac{2|W_n(x)|}{n(n-1)(1-x_k^2)|p_{n-1}(x_k)|^3}. \quad (2.12)$$

Combining (2.11) and (2.12) we obtain (2.7) and complete the proof of Lemma 1.

**Lemma 2.** For  $k=1, 2, \dots, n-1$ , and  $x \in [-1, 1]$ ,  $x \neq x_k^*$ , the following inequality

$$|B_k(x)| \leq \frac{2|W_n(x)|}{|W_n(x_k^*)p_{n-1}^1(x_k^*)|} \left\{ \frac{1}{|W_n(x_k^*)|} + \frac{1}{|x-x_k^*|} \sup_{|t| \leq 1} \left| \int_{-1}^t p_{n-1}(u) du \right| \right\} \quad (2.13)$$

holds.

*Proof* According to the definitions (1.4) and (1.6), it is easy to see that for  $x_k^* > x$ ,

$$B_k(x) = \frac{W_n(x)}{W_n(x_k^*)p_{n-1}^1(x_k^*)} \left\{ \frac{1}{(x-x_k^*)} \int_{-1}^x p_{n-1}(t) dt + \int_{-1}^x \frac{1}{(t-x_k^*)^2} \int_{-1}^t p_{n-1}(u) du dt \right\}.$$

Hence we have

$$|B_k(x)| \leq \frac{2|W_n(x)|}{|W_n(x_k^*)p_{n-1}^1(x_k^*)|} \frac{1}{|x-x_k^*|} \sup_{-1 \leq t \leq x} \left| \int_{-1}^t p_{n-1}(u) du \right|. \quad (2.14)$$

Now we assume  $x > x_k^*$  and write

$$B_k(x) = \frac{W_n(x)}{W_n(x_k^*)p_{n-1}^1(x_k^*)} \left\{ \int_{-1}^1 \frac{p_{n-1}(t)}{t-x_k^*} dt - \int_x^1 \frac{p_{n-1}(t)}{t-x_k^*} dt \right\}. \quad (2.15)$$

Since

$$\int_x^1 \frac{p_{n-1}(t)}{t-x_k^*} dt = \frac{1}{x-x_k^*} \int_x^1 p_{n-1}(u) du + \int_x^1 \frac{dt}{(t-x_k^*)^2} \int_t^1 p_{n-1}(u) du$$

and

$$\int_{-1}^1 p_{n-1}(u) du = 0,$$

we have

$$\left| \int_x^1 \frac{p_{n-1}(t)}{t-x_k^*} dt \right| \leq \frac{2}{|x-x_k^*|} \sup_{x \leq t \leq 1} \left| \int_1^t p_{n-1}(u) du \right|. \quad (2.16)$$

But (see [5])

$$\int_{-1}^1 \frac{p_{n-1}(t)}{t-x_k^*} dt = \frac{1}{W_n(x_k^*)}. \quad (2.17)$$

Hence (2.15) and (2.16) imply

$$|B_k(x)| \leq \frac{2|W_n(x)|}{|W_n(x_k^*)p_{n-1}^1(x_k^*)|} \left\{ \frac{1}{|W_n(x_k^*)|} + \frac{1}{|x-x_k^*|} \sup_{x \leq t \leq 1} \left| \int_{-1}^t p_{n-1}(u) du \right| \right\}. \quad (2.18)$$

Thus from (2.14) and (2.18) it follows that (2.13) holds. Lemma 2 is proved.

### § 3. The Proof of Theorem

For the proof of Theorem we shall use a result of Gopengauz<sup>[7]</sup> which can be

stated as follows: If  $f \in O_{[-1,1]}^r$ , then there exists a polynomial  $g(x)$  of degree at most  $(2n-1) \geq 4r+5$  such that for all  $x \in [-1, 1]$ ,

$$f^{(s)}(x) - g^{(s)}(x) = O(1) \omega\left(f^{(r)}, \frac{\sqrt{1-x^2}}{n}\right) \left(\frac{\sqrt{1-x^2}}{n}\right)^{r-s} \quad (s=0, 1, \dots, r). \quad (3.1)$$

Obviously,  $Q_n(g, x) = g(x)$ . Hence (3.1) implies

$$\begin{aligned} Q_n(f, x) - f(x) &= Q_n(f-g, x) - (f(x) - g(x)) \\ &= \sum_{k=2}^{n-1} (f(x_k) - g(x_k) - f(x) + g(x)) A_k(x) + \sum_{k=1}^{n-1} (f'(x_k^*) - g'(x_k^*)) B_k(x). \end{aligned}$$

Therefore we have

$$|Q_n(f, x) - f(x)| \leq I_1 + I_2, \quad (3.2)$$

where

$$I_1 = \sum_{k=2}^{n-1} |f(x_k) - g(x_k) - f(x) + g(x)| |A_k(x)|$$

and

$$I_2 = O(1) \omega\left(f^{(r)}, \frac{1}{n}\right) \frac{1}{n^{r-1}} \sum_{k=1}^{n-1} |B_k(x)|.$$

Set

$$\begin{aligned} I_{11} &= 5 \sum_{k=2}^{n-1} |f(x_k) - g(x_k) - f(x) + g(x)| |l_k(x)|, \\ I_{12} &= \frac{2|W_n(x)|}{n(n-1)} \sum_{k=2}^{n-1} \frac{1}{(1-x_k^2)(p_{n-1}(x_k))^3} |f(x_k) - g(x_k) - f(x) + g(x)|. \end{aligned}$$

Then Lemma 1 implies

$$I_1 \leq I_{1,1} + I_{1,2}. \quad (3.3)$$

Using (1.4) (2.4) and (3.1) we obtain

$$\begin{aligned} I_{11} &= O(1) \sum_{k=2}^{n-1} |l_k(x)| |x - x_k| |f'(\xi) - g'(\xi)| \\ &= O(1) \omega\left(f^{(r)}, \frac{1}{n}\right) \frac{1}{n^{r-1}} \sum_{k=2}^{n-1} \left(\frac{n \sin \frac{k\pi}{n}}{n}\right)^{\frac{1}{2}} |W_k(x)|. \end{aligned}$$

So

$$I_{1,1} = O(1) \frac{|W_n(x)|}{\sqrt{n}} \omega\left(f^{(r)}, \frac{1}{n}\right) n^{-r+1}. \quad (3.4)$$

On the other hand using (2.4) and (3.1) we get

$$\begin{aligned} I_{1,2} &= O(1) \omega\left(f^{(r)}, \frac{1}{n}\right) \frac{1}{n^r} \sum_{k=2}^{n-1} \frac{|W_n(x)|}{n^2} \frac{\left(n \sin \frac{k\pi}{n}\right)^{\frac{3}{2}}}{\left(\sin \frac{k\pi}{n}\right)^2} \\ &= O(1) \omega\left(f^{(r)}, \frac{1}{n}\right) \frac{|W_n(x)|}{\sqrt{n}} \cdot n^{-r+1}. \end{aligned}$$

Hence combining (3.3) and (3.4) we have

$$I_1 = O(1) \frac{|W_n(x)|}{\sqrt{n}} \omega\left(f^{(r)}, \frac{1}{n}\right) n^{-r+1}. \quad (3.5)$$

In order to estimate  $I_2$ , we assume first that  $x \geq 0$ , and denote by  $x_j^*$  the zero of  $W_n'(x)$  which is nearest to  $x$ . Writing

$$I_{2,1} = \sum_{k=1}^{j-1} |B_k(x)| \quad \text{and} \quad I_{2,2} = \sum_{k=j+1}^{n-1} |B_k(x)|,$$

we have

$$I_2 = (I_{2,1} + I_{2,2} + (B_j(x)|))O(1)\omega\left(f^{(r)}, \frac{1}{n}\right)\frac{1}{n^{r-1}}. \tag{3.6}$$

By (2.24), we get

$$I_{2,1} \leq 2|W_n(x)| \sum_{k=1}^{j-1} \frac{1}{|W_n(x_k^*)p_{n-1}^1(x_k^*)|} \frac{1}{|x-x_k^*|} \sup_{|t|<1} \left| \int_{-1}^s p_{n-1}(u) du \right|.$$

Hence from (2.6) and (2.5) it follows that

$$\begin{aligned} I'_{2,1} &= O(1)|W_n(x)| \sum_{k=1}^{j-1} \frac{1}{(1-x_k^2)|p_{n-1}^1(x_k^*)|^2} \frac{1}{|x-x_k^*|} \frac{1}{n^2} \sup_{|t|<1} |(1-t^2)p_{n-1}^1(t)| \\ &= O(1)|W_n(x)| \sum_{k=1}^{j-1} \frac{1}{(k+j)(j-k)} \frac{\sqrt{n}}{n^2} \end{aligned}$$

and

$$I_{2,1} = O\left(\frac{|W_n(x)|}{\sqrt{n}}\right). \tag{3.7}$$

Similarly we have

$$I_{2,2} = O(1)|W_n(x)| \sum_{k=j+1}^n \left\{ \frac{\left(n \sin \frac{k\sigma}{n}\right)^{\frac{3}{2}}}{\left(\sin \frac{k\sigma}{n}\right)^4 n^6} + \frac{\left(n \sin \frac{k\sigma}{n}\right)^3}{\left(\sin \frac{k\sigma}{n}\right)^2 n^4} \frac{n^2}{(k+j)(k-j)} \frac{\sqrt{n}}{n^2} \right\}.$$

So

$$I_{2,2} = O(1)\frac{|W_n(x)|}{\sqrt{n}}. \tag{3.8}$$

Now we are going to estimate  $B_j(x)$ . First we assume that  $x < x_1^*$ . Obviously, (1.6) implies

$$B_j(x) = \frac{W_n(x)}{W_n(x_j^*)} \left( \int_{-1}^{x_{j+1}^*} l_j^*(t) dt + \int_{x_{j+1}^*}^{\infty} l_j^*(t) dt \right).$$

Hence from (1.4) and (2.6) we obtain

$$\begin{aligned} B_j(x) &= O(1) \frac{|W_n(x)|}{|W_n(x_j^*)p_{n-1}^1(x_j^*)|} \left( \frac{1}{|x_j^* - x_{j+1}^*|} \sup_{|t|<1} \left| \int_{-1}^t p_{n-1}(u) |u| du \right| + \left| \int_{x_{j+1}^*}^{\infty} \frac{p_{n-1}(t)}{t-x_j^*} dt \right| \right) \\ &= O(1)|W_n(x)| \left( n^{-\frac{3}{2}} + jv^{-2}|x-x_{j+1}^*| \sup_{x_{j+1}^* < \xi < \infty} |p_{n-1}^1(\xi)| \right). \end{aligned}$$

Therefore, by (2.5) and (2.2) we have

$$B_j(x) = O(1)|W_n(x)| \left\{ n^{-\frac{3}{2}} + \frac{j^2}{n^4} \frac{\sqrt{n}}{(\sqrt{1+x_j^{*2}})^{3/2}} \right\} = O(1)\frac{|W_n(x)|}{\sqrt{n}}. \tag{3.9}$$

For the case  $x > x_1^*$ , we write

$$B_1(x) = \frac{W_n(x)}{W_n(x_1^*)} \left\{ \int_{-1}^1 l_1^*(t) dt - \int_x^1 l_1^*(t) dt \right\},$$

then (2.17) and (1.4) imply

$$B_1(x) = \frac{W_n(x)}{W_n(x_1^*)} \left( \frac{1}{|p_{n-1}^1(x_1^*)|^2(1-x_1^{*2})} - \int_x^1 \frac{p_{n-1}(t)}{p_{n-1}^1(x_1^*)(t-x_1^*)} dt \right).$$

Hence from (2.6) and the estimations

$$1-x = O(1) \frac{1}{n^2} \quad \text{and} \quad |p_n^1(t)| \leq n^2,$$

it follows that

$$B_1(x) = O(1) |W_n(x)| (n^{-2} + n^{-2}(1-x)) \sup_{a < t \leq 1} |p_n^1(t)| = O(1) |W_n(x)| (n^{-2} + n^{-4} \cdot n^2).$$

That is

$$B_1(x) = O(1) \frac{|W_n(x)|}{n^2}. \quad (3.10)$$

Combining (3.7)—(3.9) and (3.10) we have

$$\sum_{k=1}^{n-1} |B_k(x)| = O(1) \frac{|W_n(x)|}{\sqrt{n}} \quad (0 \leq x \leq 1).$$

Thus

$$I_2 = O(1) \frac{W_n(x)}{\sqrt{n}} \omega\left(f^{(r)}, \frac{1}{n}\right) n^{-r+1} \quad (0 \leq x \leq 1).$$

From this and (3.2) (3.5) we can see that

$$Q_n(f, x) - f(x) = O(1) \frac{|W_n(x)|}{\sqrt{n}} \omega\left(f^{(r)}, \frac{1}{n}\right) n^{-r+1} \quad (0 \leq x \leq 1).$$

Similarly we can prove that the above estimate holds also in interval  $[-1, 0]$ . This completes the proof of Theorem.

### References

- [1] Pal, I. G., A new modification of the Hermite-Fejea interpolation, *Analysis Math.*, **1**(1975), 197—205.
- [2] Eheduanya, S. A. N., On the convergence of interpolation polynomials, *Analysis Math.*, **11**(1985), 13—22.
- [3] Szego, G., Orthogonal polynomials, *Amer. Math. Soc. Coll. Publ.* (New York, 1939).
- [4] Balazs, J. & Turan, P., Notes on interpolation II, *Acta Math. Acad. Sci. Hung.*, **8**(1957), 201—215.
- [5] Natanson, I. P., Constructive theory of functions, Moscow (1955).
- [6] Lorentz, G. G., Approximation of functions, 1966.
- [7] Gopengaus, I. E., *Math. Zametki*, **2**(1967), 163—172.